Name KEY SP212 Quiz 5

1. For the circuit shown, write down the junction rule equation for the junction at “A.”
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2. Write down the 2 loop rule equations for the same circuit and show the loops you have
chosen on the circuits shown below.

20Q A 8.0V

v -6RT, - BT, =0

12.0 V_L

B
_/\m A 80V
n _ ; .
— 8\/"@57—3"’2—’%52') Ly 70
izovl h * 0Q 4.0Q
W L L
B

Auso ey - Q'f')j:, - 3V + (49,5’1:3 =0

3. What single equivalent resistor can replace the three resistors in the figure below?
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Who were the saxophone players for Bruce Springsteen and Billy Joel? (Must get both)



